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OPEN WYE-OPEN DELTA
STATION SERVICE

3 PHASE, 4 WIRE, 240/120V SOLID NEUTRAL
WITH LIGHTING TRANSFORMER CONNECTED TO LEADING PHASE;
LOW SIDE CURRENT LEADS HIGH SIDE CURRENT BY 30*
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Vac DEVELOPED BY (IS IN PHASE WITH) VANh
Veb DEVELOPED BY (IS IN PHASE WITH) VCNh
Vba DEVELOPED BY (IS IN PHASE WITH) -[VCNh+VANA]

LET Vac = 240
THEN Vecb = 242120
AND Vba = -[2£0+2£120] = 2£-120 = 24240
ALSO Van = ', Vac = 140
Ven = -l Vac = =140 = 1£180
Vbn = Vba+'s, Vac = 242404140 = 1.7324-90 = 1.73£270

lac DEVELOPED BY (IS IN PHASE WITH) [Anh
Icb DEVELOPED BY (IS IN PHASE WITH) ICh
Iba DEVELOPED BY (IS IN PHASE WITH) -[ICh+IAnh]

LET lac =140
THEN Icb = 14120
AND 1ba = -[1£0+1£120] = 1£-120 = 14240
ALSO Ia = [ac-1ba = 1£0-1£240 = 1.73£30
Ic = Icb-lac = 1£120-140 = 1.732150
Ib = Iba-Icb = 1£240-1£120 = 1.73£-90 = 1.73£270
ALSO lan = ' lac = 4, £0
len = -lac = -7 £0 = ' £180
Ibn = Iba+'sy Tac = 14240+ £0 = .866£-90 = .866£270
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